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Which of the following is not one of the
benefits of e-commerce to sellers ?

(1) E-commerce offers greater flexibility in
meeting customer needs

(2) E-commerce increases the net cost per
contact

(3) E-commerce is a powerful tool for

customer relationship building

(4) E-commerce can help to reduce costa

The E-commerce domain that involves
business activity initiated by the consumer
and targeted to businesses is known as

(1) Business to Business (B2B)
(2) Business to Consumer (B2C)
(3) Consumer to Consumer (C2C)
(4) Consumer to Business (C2B)

A is a B2B trading network
that links a particular seller with its own
trading partners.

(1) Private trading network
(2} Web community

(3) Partnership

(4) Internet

The type of website that is designed to build
customer goodwill and to supplement other
gales channels rather than sell the company's
products directly is known as a
website.

{1} Customer service
(2) Corporate

(3) Marketing

(4) Advertisement

(4)
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The type of webeite that engages consumera
in interactions that will move them closer to
a direct purchase is known as a

website,

(1) Interactive
(2) Customer service
(3) Marketing

{4) Advertirement

When preparing 'a website, designers should
ensure that the site enables user-to-user
communication, This design feature is known
as

(1) Context

(2) Commerce
(3) Community

{4) Connection

When preparing a website, designers should
ensure that the site makes effective use of
the text, pictures and video. This design
feature is known as .

(1) Communication
(2) Connection

(3) Context

(4) Content

marketing is the Internet

wvergion of word-of-mouth marketing.

(1) Viral
(2) Virtual
(3) Virus
(4) Vital

{51}
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11.
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Disintermediation describes

(1) Introduction of new intermediaries

within the channel structure

Introduction n_f new manufacturers
within the channel structure

(2)

Removal of intermediaries from the
channel structure

Both the first (1) and third (3) answer
above

(3)

(4)

Web portal means
(1) Website

(2)
(3)
(4)

Web page
A collection of web sites

Web stores

A sale of ¥ 50,000 to A was entered as a sale
to B. This is an example of

(1)
(2)
(3)
(4)

Error of omission
Error of commission
Compensating error

Error of principle

As per AAS4, if an auditor detects an error
then

(1) he should inform the management

he should communicate it to the
management if it is material

the auditor should ensure financial
statements are adjusted for detected
errors '

(3

(4) Both (2) and (3)

(6)
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How many principles are listed in AAS]
which EZOVErn auditor's professional
obligation ?

(1) Nine
(2)
(3)

(4)

Fourteen
Seven
Eight

Auditing standards differ from audit

procedures in that procedures relate to
(1)
(2)
(3)
(4)

Audit assumptions
Acts to be performed
Quality criterion

Methods of work

Which of the following is not likely to be a
fraud risk factor relating to management's
characteriastics 7

(1) Tax evasion

(2) Failure to correct known weakness in

internal control system

(3) Adoption of conservative accounting

principles

(4) High management Lurnover

Profesgional skepticism requires that the
auditor assume that management is

(1) Reasonably honest

(2) Neither honest nor dishonest

(3) Not nccessarily honest

Dishonest unless proved otherwise

(4)

L 7]
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Concurrent audit is a part of
(1) Internal check system
(2) Conlinuous audit

(3) Internal audit systecm
(4) None of these

In India, Balance sheet audit is synonymous

(1) Annual andit

(2) Continuous audit
(3) Detailed audit
(4) Statutory audit

Audit in depth is synonymous for
(1) Complete audit

(2) Completed audit

(3) Final audit

(4) Detailed audit

Balance sheel audit includes verification of
(1} Assets
(2} Liahilitiles

(3) Income and expensc accounts where
appropriate

(4) All of the above

Of the following, which is the least

persuasive type of audit evidence 7

{1} Bank statemenis obtained from the
client

(2) Documents obtained by auditor from
third parties directly

(3) Carbon copies of sales invoices inspected
by the auditor

(4) Computations made by the auditor

(8]
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Which of the following stalements 1s,
gencrally, correct about the reliability of
audit evidence 7

(1) To be reliable, cvidence should be
conclusive rather than persuasive

(2) Effective internal  control
provides reliable audil cvidence

syslem

(3) Evidenee obtained from oulside sources
routed through the client

(4)  All are correct

An auditor who accepts an audit but does not
posscss the industry expertise of the business
entity should

(1) Engage experis

(2) Obtain knowledge of matters that relate
to the nature of entlity’s business

(3) Inform management about it

(4) Take help of other auditors

An auditor should study and evaluate

internal controls Lo

(1) Determine whether assets are
safleguarded

(2) Suggest improvements in  internal

control
(3) Plan audit procedures

(1) KExpress an opinion

{S)
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Which of the following documents are nof
relevant for vouching cash sales ?

(1}  Daily cash sales summary

(2} Salesmen's summary

(3) Monthly statemenis sent to customers

(4) Bank statemcnis

The auditor
realization of revenue such as dividends,

gshould examine subscquent
interest, commission, ele, Lo
{1} Identify cases of unrecorded revenue

(2) FEnsure proper disclosure in the Balance
Sheet

(3) Recompuie accrued income on the date
of Balance Sheet

{4} Any of these

To test whether sales have been recorded, Lthe
auditor should draw a sample from a file of

(1) Purchase orders
{2) Sales orders
(3} Sales invoices

(4}  Bill of lading

{10)
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For vouching of which item, ig the auditor
most likely 1o examine cost records 7

(1) Commission carned
(2} Bad debts recorded
{3) Credit sales

(4) Sale of scrap

The “Guidance Note on Revenue” issued by
the ICAT does not deal with

(1) Sales revenue
(2) Revenue rendering service
{(3) Revenue from sale of lixed assects

{4) Income from interest and dividend

The purpose of an auditor conducting a
surprise check on the pay day is

(1) Lo ensurc that there are no ghost
workers

{2) Lo ensure the casual workers employed
arc authorized by the supervisor

{(3) to test procedurcs for distributing pay
cheques

(4) 1o obtain understanding of iniernal
control system
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32,
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Flements of manulacluring cosl are

{1} Direct material, direct labour, variable

overheads and fixed overheads
(2) Direct material, direct labour, variable
overheads

Direet material, direct labour and fixed
overheads

(3

(4)  Direct material, indircet material, direct

labour and variable overhcads

Direct labour cost would include wages paid
to all the following excep!

(1)
(2)
(3)
(4)

Machine operator
Assembly line worker
Janitlors

Brick-layers

Industrial labour costs would include wages
paid to all the following except

(1)
(2)
(3)
(4)

Machine operator
Storekecpers
Material handlers

Fork lift operators

Overheads consist of all following excepl
(1)
(2)
(3)
(4)

Indirect material
Factory utilities
Direct labour

Indirect labour

Which of the following is not a component of
prime cost ?

i1) Dircet labour
(2)
(3)

i)

Direct material
Direct expenses

Overheads

(12}
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36. Prime cost comprises the following
combinations of cost :
(1) Direct materials and factory overheads
(2) Direct labour and factory overheads
(3) Direet materials, direct labour and

factory overheads

(4) None of the above

37.

38.

39.

Conversion and prime costs

(1) are synonymous can be wused

interchangeably

E“d.

(2) both include factory overheads with its

variable and fixed components

represent cost incurred on joint products
before the split off point

(3)

(4) differ because prime costs include direct
material and direct labour and

conversion costs

An understatement of WIP inventory at the
end of a period will

(1) Owverstate current assets
(2)  Owverstate net income
(3) Understate cost

(4) None of the above

Jayaram decides to spend an additional hour
working overtime rather than playing football
with his friends. He earns ¥ 6 an hour for his
hour’s work. His opportunity cost is

(1) the T 6 he earns

(2) the enjoyment he would have received
playing football with his friends
(3) the T 6 minus the enjoyment he would

have received from playing football with
his Friends

(4) nothing since he would have received
less than ¥ 6 worth of enjoyment from

playing foolball

(13)
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Which of the following is not illustrated by
the Production Possibilitics Frontier ?

(1)
(2)
(3)
(4)

Efficiency
Opportunity costs
Equity

Trade-offs

Marginal cost represents
(1)
(2)
(3)

variable cost
variable overheads
fixed cost

(4) semi-variable cost

Marginal costing is
(1)
(2)
(3)
(4)

a method of costing
a technique of costing
a system of costing

a stage in accounting process

Contribution is the difference between
(1)
(2)
(3)
(4)

sales and profit
sales and fixed cost
sales and variable cost

fixed and variable cost

The prime objective of marginal costing is to
(1) make decisions and control cost
(2) prepare final accounts
(3)

(4)

make reports to statutory authorities ,

predict profit

114}
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45. Under marginal costing technique, the prices [45.
are based on
(1) fixed cost
(2) wvariable costs

47.

48,

www.sakshieducation.com

(3) wvariable cost and contribution

(4) fixed cost and contribution

Marginal costing technique combines the
technique of

(1) standard costing and budgetary control
(2) contract costing and operating costing
(3) job costing and break even analysis

(4) cost recording and cost reporting

In marginal costing, the cost of production

includes .

(1) Prime cost and variable overhead
(2) Direct cost and indirect cost

(3) Prime cost and factory overheads

(4) None of these

Period costs are

(1) Variable costs

(2) Costs that occur at regular periods
(3) Fixed overheads

(4) Total costs that occur at a specified
period

48.

47.
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Key factor is important
(1) in making key decisions
(2) in ascertaining the profitability

(3) in segregating semi-variable cost

(4) None of these

The main difference between marginal
costing and absorption costing lies in the
treatment of

(1) Direct cost
@
@)

(4)

Fixed overheads

Variable overheads

Semi-variable overheads

The capital budget for the yen;* is approved
by a company’s

(1)
(2)
(3)
(4)

Board of Directors
Capital Budgeting Committee
Officers

Stockholders

The capital budgeting decision depends in
part on the

(1) Awvailability of funds

(2) Relationships among proposed projects
(3) Risk associated with a pﬁmlm project

All of these

(4)

H‘ﬁi
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Capital budgeting is the process

(1) of determining how much capital stock

to issue
(2)
(3)
(4)

of making capital expenditure decisions
of eliminating unprofitable product lines

MNone of these

Which of the following ignores the time value
of money ?

(1)
(2)
(3)
(4)

Internal rate of return
Profitability index
Net present value

Cash payback

Bombay Bazar is considering the purchase of
a piece of equipment that costs ¥ 23,000.
Projected net annual cash flows over the
project’s life are T 3,000, T 8,000, T 15,000
and ¥ 9,000 respectively.

The cash payback period is

(1)

(2)
(3)

2-63 years
2-80 years
2:20 years
(4) 2-37 years

If project A has a lower payback period than
project B, this may indicate that project A
may have a

(1) lower NPV and be less profitable

(2) Thigher NPV and be less profitable
(3) higher NPV and be more prnﬁtahlﬂ‘
(4) Jower NPV and be more profitable

(17)
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If an assel costs T 2,10,000 and is expected to
have a ¥ 30,000 salvage value at the end of
its ten-year life, and generates annual net
cash inflows of ¥ 30,000 each year, the cash
payback period is

{1) 8 years
(2} 7 years
(3) 6 years
(4) & years

A disadvantage of the cash payback

technique is that it
(1)
(2
(3)
(4)

ignores obsolescence factors
ignores the cost of an investment
is complicated to use

ignores the time value of money

If a company’s required rate of return is 10%
and, in using the net present value method, a
project’s net present value is zero, this
indicates that the

{1} project's rate of return exceeds 10%

(2) project’s rate of return is less than the

minimum rate required
(3)
(4).

project earns a rate of return of 10%

project earns a rate of return of 0%

The capital budgeting method that uses
discounted cash flow technigues is the

(1)
(2)

net present value method
cash payback technique
(3) annual rate of return method

(1) profitability index method

{18 )
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Which of the following would prevent double
payment of the same voucher ?

(1) The person signing the cheque should

cancel the supporting decumentis

(2) Cheques should be signed by al lecast

Lwo persons

(3) The data of payment of vouchers of

similar nature should be the same or
close Lo each other

(4)  All of the above
l3harathi Co. ltd., conducts quarterly review

of operations. It discovers that unrest in a

particular region may affect the supply of raw

i

materials to it the nnxt'quarter, This is an

example of

(1)
(2)

Risk assessment

Control procedure

(3) Supervision

(4) Skepticism

An auditor is verifying valuation of building
which has been self constructed by the client.
Which of the following documents is least
relevant to the auditor for wverification
purposcs 7

(1) Bills of contractor

(2)  Minutes of meetling of board of directors
(3) Certificates of engineer and architect
{4} Loan agreement

Which of the following asscts is least likely Lo
be subjected to lien 7

(1)  Frechold land

(2)
(3)
(4)

Plant and machinery
Leaschold property
Maotor vehicles

[19)
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65. An analysis of fixed assels account has |65.
revealed possibility of unrecorded sale of
plant and machinery. Which of the following
audit precedures may be adopted to discover
it ?
(1)  Examination of property tax files
(2}  Inquiry of plant manager
(3)  Examinatlion of debits to accumulated
depreciation
(4)  All of the above
66. The auditor has noticed existence of recurring
losses on sale of fixed assets. This indicates 66
(1) Depreciation charges are insufficient
(2) Policy of sale or disposal of fixed assets
needs Lo be reviewed
(3) The sale of assets have not been
properly timed
(4)  Accounting errors
67. Which of Lthe following statements is nof true
regarding appointment of statutory auditor |g7.
by the Central Government ?
(1)  Such powers have been conferred upon
it by Section 224(3)
(2} 1If a company fails to appoint an auditor
at a general meeting
(3) If an auditor rcfusea to accept
appoiniment, the powers of the Central
Government can be exercised
{4) None of the above
68. Which of the following statements is not
true 7
(1} Valuation ol assets is the responsibility |gg,

www.sakshieducation.com

of management

(2) The auditor can rely on a certificate
issued by an authorized valuer

(3) The auditor should value the asset as
per gencrally accepted accounting
principles

(4)  Valuation is no part of auditor's duty
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Right to visit branches has been given to the
auditor under which section ?

(1) Section 222(3)
(2) Section 228(2)
(3) Section 228(4)
(4} Section 228(3)

Auditor of a company does not
have right to visit foreign branches of the
company.

(1)  Unlimited liability
(2) Manufacturing

(3) DBanking

(4) Non-profit-making

The auditor while verifying prepaid insurance
has concluded that therc is inadequate
insurance of building. Then, he should

{1) Modify his audit report

(2) Insiset that it should be disclosed in the
notes to financial statements

(3) Write it in a letter
(4) Both (2) and (3)

Who is responsible for the appointment of
statutory auditor of a limited company ?

(1) Directors of the company
(2) Members of the company
(3) The Central Government
(4) All of the above

Which of the following sections deals with
qualifications of the auditor ?

(1) Section 226(1) and Section 226(2)
(2) Section 224(1) and Section 224(2)
(3) Bection 226(3) and Section 226(4)
(4) Section 224(3) and Section 224(4)

{21)
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Companics exempted from application of
CARQ, 2003 do not include

(1) a banking company with T 25 lakhs of
capital

(2) an insurance company with T 50 lakhs
of capital

(3) a private limited company with paid up
capital and reserves not more than ¥ 55
lakhs

(4} @ licensed company with paid up capital
and reserves not more than € 35 lakhs

Under CARO, 2003, the auditor is required Lo
report on

(1) Arrears of cumulative preference
dividends

(2) Preferential allotment of shares to
related party

(3) Disposal of fixed asscis and its effects
on going concern

(4) Unsecured loans granted to related
party

Which of the following Auditing Assurance
Standards deals with Audit Planning ?

(1) AAS7
(2) AASS
(3). AAB9
(4)  AAS3

Audit programme is prepared by
(1) the auditor

(2) the client

(3) the audit assistants

(4) the auditor and his audit assistants

{22) B
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The working papers which auditor prepares
for financial statements audit are

(1) kept as evidence for audit conclusions
(2) owned by the client
(3) owned by the auditor

(4) retained in auditor's office until a
change in auditors

Which of the following best .describes the

primary purpose of audit programme

preparation ?

(1) To detect errors or fraud

(2) To comply with GAAP

(3) To  gather sufficient appropriate
evidence

(4) To assess audit risk

Which of the following is not an advantage of
the preparation of working paper ?

(1) To provide a basis for review of audit
work

(2) To provide a bagis for subseguent audits

(3) To ensure audit work is being carried
out as per programme

(4) To provide a guide for advising another
client on similar issues

Which of the following methods of sample
selection is least suitable for extrapolating
results to the population ?

(1) Systematic sampling
(2) Random sampling
(3) Haphazard sampling

(4) None of these

( 23)
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82. Which of the following is met an inherent

83.

limitation of internal control system 7
(1)
(2)
(3)
(4)

Management weakness
Collusion among employees
Inefficiency of internal auditor

Abuse of authority

Which of the following factors is most
important in determining the appropriateness
of audit evidence ?

(1) The rehability of audit evidence and its
relevance in meeting the audit objective
(2) The objectivity and integrity of the

auditor

(3) The quantity and quality of audit

evidence

The independence of the source of
evidence

(4)

Tests of control are not concerned with
(1) Existence of controls
(2)
(3)
(4)

Effectiveness of controls
Continuity of econtrols

Designing of controls

The title of AAS2 issued by Council of ICAI ia

(1) Objective and Scope of the Financial
Statements

(2) Objective and Scope of the Audit of

Financial Statements

(3) Objective and Scope of Business of an

Entity

(4) Objective and Scope of Financial

Resources of a business unit

[ 24 )
82,

B

8o &S* woddd Jododns® Ko
poirdd 508 28 7

RaShoty vearnd

(1)
(2) a8gher i Sdo

.(-ﬂ( $0808 wdbd alng) ufnﬁ:gé
GQ/ w58 obeldiriio

83. ©A8 FEgo HBWRE & BenuEmood

(5ol sodo orer :mq:.sa

(1) ua&& FEgo Gy DD (s
0oy udS Jeakrd) TG do

Q[aa/;}%é'éc Doy dared avde

(3) wa&& 8o Jod aod, & Togd
Eodds ﬂ?&l s0%40

4) %o &  Arody  dod

vTEdan vy wodo

Nobo|de HBEenw & Dlho¥ren HPoDEY
(1) Nobo|dn dFden doddo

(2) Jovodn Fho S

487 Dovolsn EsThoBLo

@) dobo|Se dFshod JEBSGo

ICAI NS =8 JIud AAS2 3D 900D
Denéod ?

(1) 0% 3680 dgavo DBk 08
(2) ©B¥ VEoke ©df g Fgobo

Dboky HOS

(8) o8 JoP GoE) agdd HOH WO
Fgabo

W 2 ;’JGQ Go¥y ol S H0S
suboXy ngﬁn

www.sakshieducation.com



AMOA/SOS7

B6.

87.

89.

www.sakshieducation.com

The audit engagemant letter, generally,
should include a reference to each of the
following except '

(1) Limitations of auditing

(2) Responsibilities of management with
respect to audit work

Scope of the audit

A description of the auditor'’s method of
sample selegtion

(3)
(4)

The main object of an audit is

(1) Expression opinion

(2) Detection and prevention of fraud and
error

(83) Both (1) and (2)

(4) Depends on the type of audit

The least ' important element in the

evaluation of an audit firm's system of
quality control would relate to

(1}' Assignment of audit assistants

(2) BSystem of determining audit fees

(3) Consultation with experts

(4) Confidentiality of client's information

Audit of banks is an ﬁ':;l:ample of
(1) Statutory audit

(2) Balance Sheet audit
(3) Concurrent audit
(4) All of the above

Life Insurance Corporation of India holds
twenty five percent of shares of Jayabheri Co.

" The appointment of statutory auditor in

Jayabheri Co. would be by
(1)
(2)
(3)
(4)

Ordinary resolution
Special resolution
Both (1) and (2)
None of the above

(25)
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EDAS wodo
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@) w3 esdyo 58 wadd

(3) o¥so wdd

(tﬂ"_’/ uhl

LIC 508 wo%#do Zods® 25 o
Sérevamon, sond, 2o0F0 Londt
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The average, most affected h:,r the extreme
observations is

(1) Mode
@ AM.
@ GM.
(4) Median

The most unatable mea_lfure of central
tendency is

(1) AM.
(2) Median
(3) Mode

(4) None of these

In a moderately asymmetrical distribution,
the mean and median are 20 and 25
respectively. Then, the value of mode will be

(1) 30
(2) 85
(3) 4

(4) 15

For a symmetrical distribution, @, and Q, are
30 and 45 respectively, Than the ?alua of
da is

(1) 40

(2) 45
(3) 76

(4) None of these

{ 2B )
81.

92.

93.

wdgoy, wdgn¥ 5ﬂ#w:5*él£ sofined
[Peradiy sed S8 28 7

(1) arodEsdw
g unﬁ Sogfedoidn
@ e gt

w ES AL LT

pE830 BD Fodod drgighy Sddn D6 7
(1) wosiugite

(2) RFgHdan

(8)  adoEEin

08 s

o edpd D esdind®, LRSI
Mﬁﬂﬁ aevmen o 20 HbBey 25
e, rarovEy) Jed

(1')/30'

(2) 85
(3) 4

(4) 15

o8 odrad Jradds Q, Q, Jwdw
SHHM 30 Hbow 46 vond da Deod
Jod 7

(1) 40
(2) 45
37 75
4 2B s
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(27} B

95. Mean deviation gives an accurate result when [85. Jrdgay JSodiw, |Sod by Dod,

87.

deviations are measured from

()
(2)
(3
(4)

The most reliable measure of dispersion is

(1
(2)
(3
(@

Mean
Median
Mode

Any one of these

Mean deviation
Quartile deviation
Standard deviation

None of these

Dwddned BRSOy, ED)ERd
ey onnod

(1) oosHesgdim
(B dacsgn s

(8) e doedh

(4) S dfvod® w58

96. (808 o8S° odedlor  wEUBSSAD
DSes Hirodw 28 7

(1) g ot
(2) Sdogro¥ ARSI RN
gsf‘ |rdreds Ddenin
(4) 286 s

97. (800 Hitw  Dod  ddosred 8D

The sum of squares of the deviation is least oo dgrer ddod, dgrod Erd

when the deviations are measured from

(1)
(2)
(3)
(4)

Mean
Median
Mode

Quartiles

SHypd HFy Iwddw, (bchondd HXtwe
Lod 8% Dlodive HEve Inddwn
¥od) ¥4 dotwod

9«)/;;5:::1_555:&;:
(2) Ewgriein

(3) erdoFEin
(4) ﬁé:-g"cm:n

Coefficient of variation is used to measure 98, D38m Hodivd (308 SEd FodaDE,

(1)
(2)
(3)
(4)

Concurrency
Variation
Consistency

None of these

AdDAIrAoBHWEY
(1) JFSgamw
@ S8

(3) Pe¥d

(4) 28 s
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99.

10:0.

101.

102.
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Mean deviation can be calculated with the
help of

(1) Mode
(2)
(3)

(4)

Median
Mean

Either of these

Sum of absolute deviations is minimum when
measured from

(1) Mean
(2) Median
(8) Mode
Quartiles

(4)

The measure of dispersion independent of
frequencies of the given distribution is

(1)
(2)
(3)
(4)

Range
3.D.

M.D.
Q.D.

For a distribution, if the Arithmetic mean >
Median > Mode, then the distribution is

(1) symmetrical
(2) positively skewed.
(3) negatively skewec}’

(4) None of these

| 28 )

100.

101,

102.

B

Srggay Jdoniw (Sobd o Stahindg®

KeSowsHiso)
() ofoessn

(2) i:qﬁgﬁ #0
(3) woXdnd ga&-im
DB 288

Bod ¢ od D Idoddved 8L
Sofodin Bh Ty Wwddn (288 S
wgrdor O  ddosre Iwddn  Eb)
E0Rd aotvod

(0 wosdsgiihn

(2) Mgﬁi&-::a

(3) wirossin

(4) ﬁﬁ:ng-nﬂ}ﬁuééu '

adgRdd wrasdd ol Doporgest
Sowogo THoar Kelodie e Hrddw
28 7

(1) amgd

[21/ (@reredE i
(3) Rorgan Doniw

(4) Sgrod dSosiw

¥ dgraddndd,  wrdrovEie g
Mgﬁﬁm. Mgﬁrﬁm ) wol Mgé:m
QXM addypd (wo.. > d >
erdrodfEin)  wderasdy & Ddore
Tl Toulet

Fl)} RrDoaw

@f\ Sy ¥onm Shogiw

@] anerd)¥ Ihdein

(4) =22 o0 =N
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103. The Peakedness from normal is more for a  [103. (808 &0&° 28008 Bpdo I, Fgdm
(1)  Mesokurtic curve Rrud Ip &5 odfor dotnod
(2) Leptokurtis ecurve (1) wﬁgﬂﬂg élﬁ’u‘g}
(3) Platykurtic curve () SFHES HETp
(1) None of these B Powges s5de
(4) 28 s
104. Coefficient of skewness determines depariure
o 104, Jag tHheshy |Bod8st wSod ®od
(1) Normal curve Jod Srdc Fdhos 8dokh Hod
(8)  Averags (1) Ferde HE0w
(3) Standard deviation ::‘:r ;:* A¥ BXerd
(1) Symmelry (4) E}‘gﬁ'}a’m
105. In a negatively skewed distribution 105. awerSone Jhbghn 308d Nraadd
(1) Mean > Median MHGEMS&&J > Dodgido
(2) Mean < Median (2) woSdudgioiw < b@ﬁsﬁﬁﬂ
(3) Moan = Median (31 wosisghitn = Highso
(4) None of these {4] B 5=
106. Difference between the mean and the mode |108. 23328 d83oTroTo Q38
divided by the standard deviation of a given ararossn g, uaﬁﬁ::ﬁgﬁrﬂé dar E0End,
set of observations is known as (Drioeess e & T AY 58 5008
(1} Karl Pearson’s measure of skewness &0 ?Ebﬂﬁﬁﬁ Emgmm
(2) Bowley's measure of skewnoess @) Stiogirdisn
(3) Fisher's measure of skewness (3) RO Jadgrdiw
{(4) Laplace measure of skewness @) ﬂ‘é 5 3 :ﬁ"ﬁ St
107. In Computer terminology, ‘CAD’ stands for
107. Soyrgbl H03rRS* ‘CAD' wdm
(1}  Computer And Design (1) EG:&I‘E*—""‘S-’ 908 3ZH
(2) Computler Algorithm in Design Mﬁﬂ@‘ﬁ“ﬁ-’ uﬁ‘f}:‘;ﬂﬁ: N a8
(3) Computer Aided Design (3) ﬁﬂﬁ}‘gbﬁ-‘* 2886 aB®
(4) None of the above (4) & 5%

www.sakshieducation.com

www.sakshieducation.com




www.sakshieducation.com

AMOA/OBT (30} B
108. Which of the following is not an Input [108. & (808 &US* 28 Hofrgbb asH&
Device ? HBEGo sty ?
(1) Touch Screen (1) ﬂ&ija_j,‘ﬁ
(2) Optical Scanners (2) Hbﬂﬁf A 58>
{3) Touch Pad @ &S5 5‘&*5
{(4) Plotter “A’/ Q‘t]ﬁ

109. In analog computer 109. wSerh ﬁﬂ@‘gﬂﬁﬁ*

(1) Input is first converted to digital form (1) a3HE wsd  S20F Erdods's

s srddaod
{(2) Input is never converted to digital form

(2) amd a2bd Crdod'd  ddypdr
Brdds

{(3) Output is displayed in digital form

(4) All of the above
(8) &ZEHE d2bS Grdod® Jenbddod

47 2D ey
110. A computer program that converts an entire

program into machine language is called a/an
110. |@mS Iwgrdy obod HoaristE &rd)

(1) Interpreter ¥orghb |m&d dolrh
(@) Biodinton () @obd(2bE
(3) Compiler (_2)/ :Ja’mgﬁhﬁ
(4) Commander 3) Sowob
(4) K&rodb
111, ;:;:?;FIE of an analog communication fid il ﬁurgaﬁf.ﬁ %EE L R
(1) laser beam . (1) 28 HS
(2) microwave (2) 535
(3) voice grade telephone line (3) arowd A6 BOF'S B
(4) Al of the above M R
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112.

113.

114.

115.

116.
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In latest generation the

instructions are executed
(1)
(2)
(3)
(4)

computers,

Parallel only
Sequential only
Both sequential and parallel

None of these

Physical layout of a network is referred to as
its
(1
(2)
(3)
(4)

Topology
Architecture
N/W media

Neiwork type

i= a node on a network that
serves as an entrance to another network.

(1)
(2)
(3)
(4}

Gateway
Bridge
Router

Switch

is the domain extension used for
educational sites.

(1) .edu
(2) .eud
(3} ..ced
(4) None of these
specifics the address of the
webpage.
(1) URL
(2) IP Address
(3) Both (1) and (2)
(4) None of these

(31}

112.

113.

114,

115.

116.

Bd d¥0 Sodrphdds’, rdve wdw
(y Shrodone (8BS) |
(2) e¥ord SHhard X8 (DESLoNS)

(3) Todr wof Hbroddorr dofe
a,¥orn dihard X8

(4) D oa seh

38K, ), T8E drary ST
(1) &'dod

(2) w0 BENG

(3) IE56), ok

[.4‘)/ I6HG), 6o

o4 656, aof ¥ SUHITE &8

B3RoSarAs adEboT Lrdd
0 8.

(1) A8d
2 D&
@ Ereb
U

drg Bowodd PR FRS D DY
o Sotwod.

d;.l'j/ edu

(2)
(3}
(4)

.cud
eed
2B 5%

808 &S° DB IS wE W B@S
D2&od
(1) URL

2) 1P Address
@ (1) Hoo (2) ok

(4) 28 5%
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117.

118.

119,

120.
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TCP/IP is a
(1) Protocol
(2) URL
(3) Address

None of these

(4)

i8 the audio format.

(1)

wawv

(2) MP3

(3) Both (1) and (2)

None of these

(4)

are networks that connect
people within a company to each other and Lo
the company network.

(1) Bilstreams

(2) Intranets
(3)

Internets

(4) Extranets

_ _ is the encompassing term that
involves the use of electronic platforms -
intranets, extranets and the Internet — to
conduct a company’s business.

(1)
(2

E-marketing
E-procurement
(3) E-business

(4) E-commerce

(32}

117.

118.

119.

120.

TCP/IP 2.5
(1 | &S
(2) URL
3 ©|dd

4) 28 s

28 udclr ErdHostD PS

(1)

27~ MP3

(1) 0cXv (2) Sods

wav

(3)
(4) o8 5%

ad Zow ﬁﬁ‘grb:ﬂ&:- S5 8o Hdoks
Kobe 8¢ 20% BEDHE,

(1) DE Jydy
(2) aser3dy
(‘tﬁ/ ab 38y
(4) D59y

¥ Hod Jgrord), Soges Do
adSrAohHobr, vy TS ORr vol
A& 38, JE@*;E&E :::5&:535}:&?&1*
THHT  Fediod) 3008  FoB8E
a0

1
@)

dt-érﬁzrﬂnﬁ}
& -@‘Eﬂgﬁﬁ: ody
(3) Gi-D2BS

(4) 5o
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AMOA/OS7

121. Which is not a financial statement analysis ? [121. & (808 &>&S* 0¥ JE0E Jdhe 50 7
(1) dn8 Jdde

(2) .. Jdde

(1) Ratio analysis
(2) CVP analysis

(3) ABC analysis (3) 5.5, ﬁﬁﬁn
(4) Trend analysis 8 &5 ;Jifﬂm

122. Suppliers and creditors of a firm are 123. Sopk f}ﬁz)ﬂ‘ftﬁa ooy 2wncrdo
interested in 39 Lﬁg Wy &)

N oraforands 28
e (SSg8s HAD

3) W SS" mer 8D
(4) Jwdo oD

(1) profitability position
(2) liquidity position
(3) market share position

{4) total asscts

123. a3gobd ©FHE 48, adgobd Lok
E’a:an:ig RoOROFoR wgrdddidiod

123. Inventory turnover measures the relationship
of inventory with

(1) average sales

(2) cost of goods sold
{3) total purchases
(4) total assets

(1) Difdn vayste

@7 wdnb HhHe dgato
8) FHA'Y) Iwdo

(4) ede Jwdo

124, ‘EVA' same

124. The term ‘EVA' is used for (1) ©ssd Do Ddm
(1) extra value analysis &
: (2) oday 005 Jws
(2) * economic value added e "
‘ﬂ W,
{3) expected value analysis MR St Dﬁm
(4) liquidity analysis (4) |B85g3 DT
125. Dadd cad DD SSorool
125. Return on investment may be improved by

(1} increasing turnover
(2) reducing expenscs
(3) increasing capital utilisation

(4) Al of the above

(1) uinas-m 2oored
(2) Sagu.ﬁ'm ri!;‘t::r-m'-ﬂ
(3) [wrody RWEIrMY) woddo

SR B
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126. There is deterioration in the management of |126. Jwroddo wE), bgorm EetoNotol
working capital means Y ete
L
(1) that the capital employed has reduced (1) Swredd dNckrtio dfoda

(2) erdorobls DOACED

@ woido ©od Srd)  swoo
DOAOED |

(4) decrease in sales (4) u&gs'r.::- éﬁ‘ﬂﬁﬂ

(2) the profitability has gone up

(3) debtors collection period has increased

127. §'6ed Ddde =¥ DoP G I 8EHH
127. Trend analysis helps comparing performance Oy Jewdooh,

of a firm m" <5 :}Géuﬁl

2) %op Fod so Sg5o&*
(3) 33 HopIdvS

1) Db s

(1) with other firms
(2) over a period of time
(3) with other industries

(4) None of the above

128, JK& Hardr dFhde I8
adSrfdsion ?

128. Cash flow analysis is useful for (1) dgoyso :JE#::EEEJ
(1) short-term analysis (2) '5?;5“-’ DAt
(2) long-term analysis 3 @ ;}Eﬁm el
(3) no analysis “l (1) L0k (2) Bodr

(4) Both (1) and (2)
129, :gu'_r.':_um sy SO B Pardro o
SENBE JolHa ?

128. Cash flows resulting from sale of fixed assets (1) doad dgddforo H0d ;.'a{.};:,ﬁ DSy
are classified as Do

(1) cash flow from investing activities \.@5/ uHo 535#,:.-.,., Lod HYS Hif
(2) cash flow from assct activity pardro

(3) ecash flow from cash account @) Diich e Wod 5%‘.‘(’ A
[Pararo

(4) cash from operating activity @ :"ﬁﬂ o 53 Sk Woa % o %y
[Bdararo
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130.

131.

132.

133.

134.
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Accounting Standard -3 for cash flow is
issued by

(1) ICAI
(2) ICFI
(3) IFCI
(4) IDBI

DuPont analysia deals with

(1) analysis of current assets

(2) analysis of profit
(3) capital budgeting )
(4) analysis of fixed assets

In net profit ratio, the denominator ia
(1)
(2)
(3)
(4)

net purchases
net sales

credit sales
cost of goods sold

In current ratio, current assets are compared
with

(1} current profit

(2) current liability

(3) fixed assets

(4) equity share capital

A company has a current ratio of 1-5 : 1 and
net current assets of T 5,00,000. What are the
current assets ?

(1)
(2)
(3)
(4)

¥ 5,00,000

¥ 10,00,000
T 15,00,000
T 25,00,000

{35)

130.

131.

132,

133.

134.

(2)

DS (DS Howofowe eFodoth

|1DErmo 3 B8 Iar 7

ax 1CAI

(2) ICFI
(8) IFCI
(4) IDBI

drg arolf ke @D HO0D Dwdod

af;:t;‘;é:ﬁ wdho JAde

@ oref Jdhe

@) Saregs 2386

“) Podeo JFde

S8 oy W8S 28 o (B>3wb)
widod

(1) &S E‘&:ﬁ‘#ﬂg

@ D58 winses

(8) ody sansw

(4) o :s_@@u Dgado

Bo8  BS, PdE wpod Ses
D& ? |

W B8 oviod

2) (D8 swerod

8 yopod’

@) %S > Drogdo

o8 HoRS® (Bd Y 15 : 1 aod IS
%8 eden T 500,000 do¥, (D
wpBod 7

(1) ¥ 5,00,000
¥ 10,00,000
87 T 15,00,000

(4) ¥ 25,00,000
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135. A current ratio of less than one means 135.
(1) Current liabilities < Current assets
(2) Fixed assets > Current assets

136.

137.

138.

www.sakshieducation.com

Current assets < Current liabilities

(3)
(4)

Current assets = Current liabilities

Gross profit ratio for a firm remains same but
the net profit ratio is decreasing. The reason
for such behaviour could be :

(1) increase in cost of goods sold
(2)
(3)

(4)

increase in expenses
increase in dividends

decrease in salesa

Which of the following statements is correct ?

(1)

A higher receivable turnover is mnot
desirable

Interest coverage ratio depends upon
tax rate

(2)

(3)

Increase in net profit ratio means
increase in sales L

Lower debt equity ratioc means lower
financial risk

(4)

Debt to total assets of a firm is 0-2; debt to
equity would be

(1) 080
(2)
(3)

(4)

0-25
1:00

0-76

138,

137,

138.

OB B 258 $0B XS dosod

ug’r}

L S oo P8 udo Lo
SEn '

@) Povies (HS vdo Sod JHyd ed

@) B8 v HHS ovwo ¥oB
SEnd o |

@) Pdd wdon (D awerer DArR0
&

o8 fam‘;:ﬁ‘ gro ogfding werd dod,

NES org A8 SHErIB, o8 so8mo
Shdvon aotosd ? -

(1) oDy Sdde sgavost DS
@ pines® vl

(8) aIBods® whibdo

4) einsod® Spde

(208 IS* GHB HOGS argwrgdo ?

(1) :::&r%a uﬁ}gsﬁw Jﬁ:zrénﬂ- aodbo
Frodnoho 5

(2) 58 DYouKOAS %§ Sy Téo PR
wordSdodood

DEY oy mEo WOAoKoH ednseen
2ONSE

(4) wwm, S8do dHY SEnpodm Aol
ubs 28 oo SED

awmo - Awdo wo N8 02 sond,
awmo 18888 dod ? :

QA-BD
2 025
(3)
(4)

1-:00
0-76
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139. What does debt-equity ratio help to study ?
(1)
(2)
(3)
(4)

Solvency
Liguidity
Profitability

Turnover

140. In inventory turnover calculation, what is
taken in the numerator ?
(1) Sales
(2) Cost of goods sold
(3) Opening stock
(4) Closing stock

141. What is the median of the set of scores 18, 8,

12, 10, 14 ?
(1) 10
(2) 14
{3) 18
4) 12
142. The most frequently oceurring number in a
set of values is called the
(1) mean
(2) median
(3} mode
(4) ~range

143. As a general rule, the is the best

measure of central tendency because it is
more precise.

(1)
(2)
(3)
(4)

mean
median
mode
range

(37)

189, awmo-Ei18gd ANBEF JoBerHotrd ?
$Q8 JOVR
(2) Fégé
(3 orgforonEs

- (4)

140, JXHE - sdysto ;2:91;335‘ wSdnm aan
Sndodrd 7

(1) esnstew

127 s Shihe Sgaso
(3) (Bogfd HHH

4) Hnhod) K

141, 18 12, 10, 14 o Jdoorolras,

wegrido o 7
(1)
(2)
(3) 18

/m’u

142. ¥  Sdworohodt
DED D

(1) ©o¥ Dfgvo woird
(2) a‘:::qﬁgﬁéc ol H

(B wdoFEo wobrd

(4) agd wolrd

10
14

S éb{gﬁ

143. >orden  Srgo (P80,  Soldobdrd
Food’ 28 wor SrEDS HIDIS ?

(1) oo ;’:x:':rgﬁ:m

2y Sgghiso
(3) warogfEaw

(4) a'gé
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144.

145.

146.
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Focusing on describing data versus going
beyond immediate data and making
inferences is the difference between

(1) Central tendency and common tendency

(2) and mutually

Mutually exclusive
exhaustive properties

(3) Descriptive and inferential

{4) Positive skew and negative skew

are used when you want to
visually examine the relationship between
two quantitative variables,

(1) Bar grapllxs

(2) Pie graphs

{3) Line graphs

(4) Secatter plots

The is often the preferred
measure of central tendency if the data are
geverely skewed.

(1) mean

(2} median
(3) mode

(4) range

(38}

144.

145.

146.

ﬁg‘nmﬂl Joboddo B &yd B oS
&g oy and, Sgergdo Habddr ol
Sodod g Bo

(1) Sobad Fddrdo - Igrdn e

;z{ o¥ oFES ¢ TOD 0oy e¥
RE S |Hergiom adoD

(3) E*-gﬂé&ﬁ E)a‘:ﬁm'iiéﬁ

(4) oN¥ro Hbo @P8Sro FRbgihoso

Todo 0B éaﬁ Ao - g

dowogrdy FE)igiom H8RVoTrool Jib
aard ?

(1) o8 (58) (rde
® 3 (@ rde
ﬁﬂ/ Spr e

(4) WEo [

So|Babdrd Q*E&t:vcﬁ“, (ArygRR)  Sihing
Hoeagidn SRy dr Gy &2 D
ADAIrAT 8

({,l] wo¥ Z‘JJ-GSSE:JQ

(2) sodigiieo

(3) =wara¥Eo

(4) a*g_{:;
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147. Which of the following is not a measure of
variability ?

(1) Median
(2)

(3)

Variance
Standard deviation

(1) Range

Which of the following is not a common
measure of central tendency ?

148.

(1) Mode

(2) Range
(1) Median

Mean

(4)

149. What is the median of this set of numbers 4,

6,7 9, EI_}[]ﬂl}ﬂﬂ ?
(1 75
(2) 6
3 7

(40 4

150. Which of the following is true in a multi

modal digtribution ?

(1) Mean — Median = 1/3 (Mean — Mode)

(2) Mode = 3 Median — 2 Mean
(3)

(4)

3 Median = 2 Mean + Mode

All of the above
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